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1. Solve the differential equation of )'=—y" +—y-= (15%)
x x" x
2. Find the general solution of y" + 2y’ + 5y = 1.25¢%5% + 40cos4x — 55sindx (10%)
3. Use the power series method to solve xy'" + 5xy’ + (x + 4)y =0 (20%)
4. Solve the Bessel function of x2y"" + xy' + (12x2% — w?)y = 0, (z = x%) (10%)
5. Use Laplace transform to solve y" + 4y = f(¢t),y(0) = 0,y'(0) =0
0,t<3
f(t):{t, (>3 (15%)
6. Find the complex Fourier series of f(x) = e*, —n <x <7, f(x + 2m) = f(x) (15%)
7. Find u(x, t)of the 1 — D heat equation,% = ¢? ZZTZ ,if the ends are insulated. (15%)
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